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Subject: Chemistry [Booklet Number]
Duration : 1% Hours Maximum Marks :75 Y,
(Read the following instructions carefully.) \

10.

11.
12.

13,

This question paper contains all objective questions divided into three categories.

Category-l : Comprises of Q.1 to Q.45 carrying one mark each, for which only one
option is correct.

Category-Il : Comprises of Q.46 to Q.55 carrying two marks each, for which only one
option is correct.

Categary-lll : Comprises of Q.56 to Q.60 carrying two marks each, for which one or more
than one options may be correct.

. Far questions in Category-| or Category-ll, incorrect answers will carry NEGATIVE marks.

For Category-l, 1/3 mark will be deducted for each wrong answer. For Category-ll,
2/3 mark will be deducted for each wrong answer,

Category-lll questions will not carry any negative mark. Against the number of correct
options indicated, a maximum of twa marks will be awarded on pro rata basis. However,
marking of any wrong option will lead to award of zero mark against the question
irrespective of the number of correct options indicated.

. Questions must be answered on Objective Response Sheet (ORS) by darkening the

appropriate bubble (marked A, B, C, D) against the question number on the respective
left hand columns.

. All ORS will be processed by electronic means. Hence, invalidation of Answer Sheet due

to folding or putting stray marks on it or any damage to the Answer Sheet as well as
incomplete/incorrect filling of the Answer Sheet will be the sole responsibility of the
candidate.

Answers without any response will be awarded zero mark. For Categery-| or Category-Il,
more than one response will be treated as incorrect answer and negative marks will
be awarded for the same.

Write your roll number, name and question booklet number at the specified locations of
the ORS.

Use only Black/Blue Ball Point Pen to mark the answers by complete filling up of the
respective bubbles.

Mobile phones, Calculators, Slide Rules, Log Tables and Electronic Watches with
facilities of Calculator, Charts, Graph sheets or any other form of Tables are NOT
allowed in the examination hall. Possession of such devices during the examinations may
lead to cancellation of the paper besides seizing of the same.

Mark the answers only in the space provided. Please do not make any stray mark on the
ORS.

Rough work can be done on the question paper itself. Additional blank pages are given at
the end of the question paper for rough work.

This question paper contains 24 printed pages including pages for rough work. Please
check all pages and report, if there is any discrepancy.

. Please hand over the ORS to the Invigilator before leaving the Examination Hall. _/
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Category —|

Q.1 to Q.45 carry one mark each, for which only one option is correct. Any wrong answer will lead to

Q.1

Q.2

Q.3

Q.4

Q.5

deduction of 1/3 mark.
In diborane, the number of electrons that account for bonding in the bridges is
(A) six (B) two (C) eight (D) four

The optically active molecule is

COOMe COOMe
(A) HO———H (B) P=={==0H
HO———p1——H D———1—0H
COOMe COOMe
COOMe COOH
(¢} H————O0OH {D) H—T—0OH
H——F——0H H——F——O0H
COOH COOH

A van der Waals gas may behave ideally when

(A) the volume is very low

(B) the temperature is very high

(C) the pressure is very low

(D) the temperature, pressure and volume all are very high

The half-life for decay of **C by B-emission is 5730 years. The fraction of *C decays, in a sample
that is 22,920 years old, would be

(A)1/8 (B) 1/16 (C)7/8 (D) 15/16
2-Methylpropane on monachlorination under photochemical condition give

(A) 2-Chloro-2-methylpropane as major product

{B) (1:1) Mixture of 1-chloro-2-methylpropane and 2-chloro-2-methylpropane

{C) 1-Chloro-2-methylpropane as a major product
(D) (1:9) Mixture of 1-chloro-2-methylpropane and 2-chloro-2-methylpropane
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Q.6

Q.7

Q.8

Q.9

Q.10

Q.11

Q.12

For a chemical reaction at 27 °C, the activation energy is 600 R. The ratio of the rate constants at
327 °C to that of at 27 °C wili be

(A) 2 (8) 40 {C)e (D) e?
Chlorine gas reacts with red hot calcium oxide to give

{A) bleaching powder and dichlorine monoxide

{B) bleaching powder and water

(C) calcium chloride and chlorine dioxide

{D) calcium chloride and oxygen

Correct pair of compounds which gives blue colouration/precipitate and white precipitate,
respectively, when their Lassaigne’s test is separately done is

(A) NH; NH;.HCl and CICH,;COOH (B) NH,CSNH; and PhCH,CI
"\\. /J-L-

COOH
(C) NH,CH,COOH and NH,CONH, (D) /% and S
I
\‘\\'fff =

The change of entropy (dS) is defined as

(A) dS = 8q/T (B) dS = dH/T
(C) dS = 8Qpen /T (D) dS = (dH—dG) /T

In O, and H,0,, the O-O bond lengths are 1.21 and 1.48 A respectively. In ozone, the average
0-0 bond length is

(A)1.28A (B)1.18 A (C)1.44 A {D)1.52A
The IUPAC name of the compound Xis (X= /j N )

CHJ : 2 3
(A) 4-cyano-4-methyl-2-oxopentane (B) 2-cyano-2-methyl-4-oxopentane
{C) 2,2-dimethyl-4-oxopentanenitrile (D) 4-cyano-4-methyi-2-pentanone

At 25 °C, the solubility product of a salt of MX, type is 3.2 x 10°® in water. The solubility (in
molesylit) of MX, in water at the same temperature will be

(A)1.2x10° (B)2x 107 (©)3.2x107 "~ (D)1.75x 107,
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Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

In SOCI,, the C!-S-Cl and CI-5-0 bond angles are

(A) 130° and 115° {B) 106° and 96° (C) 107° and 108° (D) 96° and 106°
(+)-2-chloro-2-phenylethane in toluene racemises slowly in the presence of small amount of
SbCls, due to the formation of

{A) carbanion (B) carbene (C) free-radical (D) carbocation

Acid catalysed hydrolysis of ethyl acetate follows a pseudo-first order kinetics with respect to

ester. If the reaction is carried out with large excess of ester, the order with respect to ester will
be

(A) 1.5 (B) 0 (C) 2 (D)1

The different colours of litmus in acidic, neutral and basic solutions are, respectively,

(A) red, orange and biue (B) blue, violet and red

(C) red, colourless and blue (D) red, violet and blue

Baeyer’s reagent is

(A) alkaline potassium permanganate (B) acidified potassium permanganate

(C) neutral potassium permanganate (D) alkaline potassium manganate

The correct order of equivalent conductances at infinite dilution in water at room temperature
for H*, K', CH;C00™ and HO  ions is

(A) HO™> H'> K" > CH,C00™ (B) H*> HO™ K* > CH,C00~

{C)H*> K'> HO™ > CH,C00™ (D) H*>K*> CH;C00™> HO™

Nitric acid can be obtained from ammonia via the formations of the intermediate compounds
(A} nitric oxide and nitrogen dioxide

(B) nitrogen and nitric oxide

(C) nitric oxide and dinitrogen pentoxide
(D) nitrogen and nitrous oxide
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Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

In the following species, the one which is likely to be the intermediate during benzoin
condensation of benzaldehyde, is

(A) Ph—C=8 -

OH
@

(8) Ph-—C\/

CN

G/QH
(C) Ph—C\
CN

e
(D) Ph—C—0
The correct order of acid strength of the following substituted phenols in water at 28°Cis
(A} p-nitrophenol < p-fluorophenol < p-chlorophenol
(B) p-chlorophenol < p-fluorophenol < p-nitrophenol
(C) p-fluorophenol < p-chlorophenol < p-nitrophenol

(D) p-fluorophenol < p-nitrophenol < p-chlorophenol

For isothermal expansion of an ideal gas, the correct combination of the thermodynamic
parameters will be

(A)AU=0,Q=0,w#0and AH=0 " (B)AU#0,Q#0,w#0and AH=0
(C)AU=0,0#0,w=0andAH # 0 (D)AU=0,Q#0,w#0and AH=0

Addition of excess potassium iodide solution to a solution of mercuric chloride gives the halide
complex

{A) tetrahedral K;(Hgls] (B) trigonal K[Hgls]
(C) linear Heal: (D) square planar Ky[HeCl;!,]

Amongst the following, the one which can exist in free state as a stable compound is

(A) CHy0 (B} CaH120 (C) CeHuO (D) C1oH470;

A conductivity cell has been calibrated with a 0.01 M 1:1 electrolyte solution (specific
conductance, x = 1.25 x 102 S ecm™) in the cell and the measured resistance was 800 ohms at
25 °C. The cell constant will be

(A)1.02cm™ (B) 0.102 cm™ (C) 1.00 cm™ " (D}05cm™

The orange solid on heating gives a colourless gas and a green solid which can be reduced to
metal by aluminium powder. The orange and the green solids are, respectively,

(A) (NH,);Cr0; and Cr;03 (B) Na,Cr,0; and Cr;03
(C) chr207 and Cr03 (D) (N H4)2Cr04 and CFO_D,
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Q.27

Q.28

Q.29

Q.30

Q.31

Q.32

Q.33

Q.34

The best method for the preparation of 2,2-dimethylbutane is via the reaction of

(A} Me3;CBr and MeCH,Br in Na/ether (B) (Me;C),Culi and MeCH,Br
(C) {(MeCH,),CulLi and Me;CBr (D) MesCMgl and MeCH,l

The condition of sporitaneity of a process is

(A) lowering of entropy at constant temperature and pressure

(B} lowering of Gibbs free energy of system at canstant temperature and pressure

(C) increase of entropy of system at constant temperature and pressure

(D) increase of Gibbs free energy of the universe at constant temperature and pressure

The increasing order of 0-N-O bond angle in the species NQ3, NO," and NO, is

(A) NO,'<NO, < NO, (B} NO,< NO, < NO,’
{C) NO," < NO, < NO, (D) NO; < NO,*< NO;

The correct structure of the dipeptide gly-ala is

(A) {B) (€) (D)
CH; O H n H
np—i— bRt —gH—ES:—NH—-CH —2—on f g I H N—I—(I?I— s
s o TH 12 HN— C— —H—p—t—a 2 ¢ ¢ H
1A A H CHzSH

Equivalent conductivity at infinite dilution for sodium-potassium oxalate ((COO™),Na*K’} will be
[given, molar conductivities of oxalate, K and Na® ions at infinite dilution are 148.2, 50.1, 73.5 S
cm’ mol™, respectively]

(A) 271.8Scm’eq™ {8) 67.95 Scm’ eq !
(C)543.6Scm’eq™ (D)135.95cm’eq™

For BCl;, AlCl; and GaCl; the increasing order of ionic character is

(A) BCl; < AICl; < GaCly (B) GaCl; < AICI; < BCly
(C) BCl; < GaCl; < AICl; (D) AICl; < BCl3 < GaCly

At 25°C, pH of a 107 M aqueous KOH solution will be
(A160 (8)7.02 (C) 8.02 (D) 9.02,

The reaction of nitroprusside anion with sulphide ion gives purple colouration due to the
formation of

(A) the tetranionic complex of iron(ll) coordinating to one NOS ion
{8) the dianionic complex of iron(ll) coordinating to one NCS ion
(C) the trianionic complex of iron(lll) coordinating to one NOS ion
(D) the tetranionic.complex of iron(lll) coordinating to one NCS ion
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Q.35 An optically active compound having molecular formula CsHis on ozonolysis gives acetone as
one of the products. The structure of the compound is

H;C b
_-,.\ 3 -/CH_
—y \L "
Hyl =
i Y

£iHs H

(A)

Hy H

/
./CH]

=
{B) W
HsC
\
CHy H

-~ -
@ H,_PH;C} el S
W N\L_/CHJ

%
HC H

H4C
(D) TN o
HiC \_.:"
F
H 'H

CH,CH,
CHy

Q.36 Mixing of two different ideal gases under isothermal reversible condition will lead to
(A) increase of Gibbs free energy of the system
(_B) no change of entropy of the system
(C) increase of entropy of the system
(D) increase of enthalpy of the system

Q.37 The ground state electronic configuration of CO molecule is

(A) 10% 26° 1n* 30° (8) 162 20% 3¢* 1n® 21
(C) 1¢* 2% 1% 30”20 (D) 1¢* ir* 26° 3¢’

Q.38 When aniline is nitrated with nitrating mixture in ice cold condition, the major product obtained
is

(A) p-nitroaniline (B) 2,4-dinitroaniline
{C) o-nitroaniline {D) m-nitroaniline

Q.39 The measured freezing point depression for a 0.1 m aqueous CH3COOH solution is 0.19 °C. The
acid dissociation constant K, at this concentration will be (Given K;, the molal cryoscopic
constant = 1.86 K kg mol™)

(A)4.76 x 10 {B)4x10° (C)8x10°° (D)2x107°

Q.40 The ore chromite is

(A) FeCr;0, (B) CoCr,03 (C) CrFe;0, (D) FeCr,0;
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Q.41

Q.42

Q.43

Q.44

Q.45

‘Sulphan’ is
(A) a mixture of SO, and H,50,
(B)100% conc. H,S0,

(C) a mixture of gypsum and conc. H,SO,
(D) 100% oleum (a mixture of 100% 503 in 100% H,SQ,)

Pressure-volume (PV) work done by an ideal gaseous system at constant volume is {where E is
internal energy of the system)
(A)-AP/P (B) zero

(C)~vap (D) -AE

Amongst [NICls]*", [Ni(H,0)¢]*, [Ni(PPhs),Cl;], [Ni(CO)] and [Ni(CN}4]*", the paramagnetic species
are

(A} INIC1{]*", [Ni(H;0)6), [Ni{PPhs),Cl,] (B) [Ni(CO)], [Ni{PPh3),CL], [NiCl,)*"

{C) INI{CN)a)*", [Ni{H,0)”", [NiCLJ* (D) [Ni(PPhg),Cl,], [NI(CO)s), [NI(CN),J*-

Number of hydrogen ions present in 10 millionth part of 1.33 cm® of pure water at 25°C is

(A) 6.023 million (B} 60 milfion

(€) 8.01 million (D) 80.23 million

Ribose and 2-deoxyribose can be differentiated by

(A) Fehling's reagent (B) Tollens’ reagent
(C) Barfoed's reagent (D) Osazone formation
Category -l

Q.46 to Q.55 carry two marks each, for which only one option is correct. Any wrong answer will lead

to deduction of 2/3 mark.

Q.46 The standard Gibbs free energy change (AG’) at 25°C for the dissociation of N,O4(g) to NO,(g) is

{given, equilibrium constant = 0.15, R = 8.314 JK/mol)

(A) 1.1k (B)4.7
(C) 8.1k (D)38.2 kI
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Q.47 Bromination of PhCOMe in acetic acid medium produces mainly

Q.48

Q.49

Q.50

(A) (8) (8]
i .ﬂ"' % /Clln

& o ¢

Silicorie oil is obtained from the hydrolysis and polymerisation of

(A) trimethylchlorosilane and dimethyldichlorosilane
(B) trimethyichlorosilane and methyltrichlorosilane
(C) methyltrichlorositane and dimethyldichlorosilane
(D) triethylchlorosilane and diethyldichlorosilane

E

Treatment of . with NaNH,/liq.NH; gives
{A) (B)
NMH. NHs
H
R
P
(€} (D)
F NH,
¥ H
Identify the CORRECT statement

(A} Quantum numbers (n, |, m, ) are obtained arbitrarily

{B) All the Quantum numbers (n, /, m, s) for any pair of electrons In an atom can be identical

under special circumstance

(C) Al the quantum numbers (n, , m, s) may not be required to describe. an electron of an atom

completely

(D) AH the quantum numbers (n, |, m, s) are required to describe an electron of an atom

completely
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Q.51

Q.52

Q.53

Q.54

Q.55

In borax the number of B-O-B links and B-OH bhonds present are, respectively,

(A) five and four (B) four and five (C) three and four {D) five and five

Reaction of benzene with MesCOC! in the. presence of anhydrous AlCl; gives

(A}
Mqii_‘\c #yc;
(C)
Mes
M0

(B}
"Mey

(D)

Al

Mﬂ:;(‘\r ™

1x10™ mole of HCl is added to a buffer solution made up of 0.01M acetic acid and 0.01M
sodium acetate. The final pH of the buffer will be (given, pKa of acetic acid Is 4.75 at 25°C)

(A} 4.60
(C) 4.75

(B) 4.66
(D)a.8

The best method for preparation of Me;CCN is

(A) to react MesCOH with HCN
{C) to react Me;CMgBr with CICN
On heating, chloric acid decomposes to

(A) HCIO4, Clz, 07 and H,Q
(C) HCIO, €10 and H;0;

(B) to react MesCBr with NaCN
(D) to react Me;CLi with NH,CN

(B) HCID, Cly,0, and H,0
(D) HCJ, HEIO, €10 and H;0
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Category — lli

Q.56 to Q.60 carry two marks each, for which one or more than one options may be correct. Marking
of correct options will lead to a maximum mark of two on pro rata basis. There will be no negative
marking for these questions. However, any marking of wrong option will lead to award of zero mark
against the respective question — irrespective of the number of correct options marked.

Q.56

Q.57

Q.58

Q.59

Q.60

Consider the following reaction for 2NO,(g) + F;{g) — 2NO,F{g). The expression for the rate of
reaction in terms of the rate of change of partial pressures of reactant and product is/ are

(A) rate=— % [dp(NO,)/dt) (B) rate= ¥ [dp(NO,}/dt]
(C) rate= — % [dp(NO;F)/dt] (D) rate= ¥ [dp(NO,F}/dt]

Tautomerism is exhibited by

(A) (MesCCO}CH (B) ’

\1‘)

a

The important advantage(s) of Lintz and Donawitz (L.D.} process for the manufacture of steel is
(are)

(A) the process is very quick

{B) operating costs are low

(C) better quality steel is obtained
(D) scrap iron can be used .
in basic medium the amount of Ni** in a solution can be estimated with the dimethyiglyoxime
reagent. The correct statement(s) about the reaction and the product is(are}

{A) in ammoniacal solution Ni** salts give cherry-red precipitate of nickel{ll) dimethylglyoximate
(B) two dimethylglyoximate units are bound to one Ni**

(C} in the complex two dimethylglyoximate units are hydrogen bonded to each other

(D) each dimethyiglyoximate unit forms a six-membered chelate ring with Ni?*

Correct statement(s) in cases of n-butanol and t-butanol is (are)
(A) both are having equal solubility in water

(B) t-butanol is more soluble in water than n-butanol

(C) boiling point of t-butanol is lower than n-butanol

(D) boiling point of n-butanol is lower than t-butanol

END OF THE ENGLISH QUESTION PAPER
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Category— |

Q1 T Q.45 2AfSfG o1y wo Fa9 ofMtm 32 s SeRalfw wow qfonra AF (1 wor

Q.1

Q.2

Q.3

Q.4

Q.5

CEAT S 1/3 T899 10! IE
SIIET TS O IHAE S5 (bridge bond ) IRTS EGAT 2T T

(A) 6 (B) 2 ()8 (D)4

SCETS TFT S5 2o

COOMe COOMe
(A) HO——p——H {8) D——1——O0H
HO——1——H D———F——OH
COOMe COOMe
COOMe COOH
(c) H——1—0OH (D) H——+——OH
H——7——0H H———1——0H
COOH COCH

aﬁwewwwﬂnmqummm

(A) STITTH ST Fiolq N 3G

(B) ST SlomIa Sholk @M =

(C) SISTTTA B9 BRS1T I 5(

(D) SR BT, SI*WTal @3e SFed FRGRE a6k @ 2@

“C TTE B- U1 TR ST T8 5730 IS 22,920 TR e asfs “c
RS AT @ BAreT RS T, o %

(A)1/8 (B)1/16 (C)7/8 (D) 15/16

2-MAESCNTATT SCATIPTETE S SRR BT Seoy =0

(A) 2-RTRI-2-FEeTeA T a4 Rfvwsite Romg
(B) 1-TITAT-2-RIAZEACTNT 972 2- -2 R=ieieeioste (1:1) firarer
(C) 1-TTERT-2-Far3eeations agw Rferse e
(D) 1-GICAT-2-MAIZLATATTAT @32 2-iet-2- M iBerretivotcg (1:9) firrer
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Q.6

07

Q.8

Q.9

Q.10

Q.11

Q.12

27°eTs wiTmtaE G%fs fifiea Jheus RS eoo k1 «fbg 327° Of8 SHWER @
$IF G2 27°673 BINIANR @5 I FRT THAS 59T

(A)2 (B) 40 - {Qe | (D)ez
ke o8 SEtmy SHiEe . E @ Rieay Segg 28
(A)f?%\ﬁ@@aaa\mﬁammﬁ@

(8) farfse s «ag @

(C) FTAREN GRS v @R Gﬁ?ﬂ'ﬂﬁ@
(D) IR G@REG UIe HAFEA

SAFGIR THNZA (57D IFCeT AleT Il WQiEITH @I St SIS IAFCT
% 2 anT AT I (SISlD %

{(A) NH; NH;.HCI €<% CICH;CO0H {B) NH,GSNH; ¥4 PhCH,Cl
u\' Vo

(C) NH,CH;COOH 32 NH,CONH; (D) fL ’ij/

7GR e (dS) et @

(A) dS = 8q /T (B) dS = dH/T

~(C) dS = 5qyer /T (D) dS = (dH—dG) /T

0, 932 H,0, 7 0-0 IFA (9f TW TAPW 1.21 93¢ 1.48 Al GTIT (o20ne) SFANS
0-0 IHANT 91G (vl B

(A)1.28 A (B)1.18A (€)145 A (D)152A

N
X TefBa upAC AT Ze1-{x= /j /j\m )
CH; 1 \tﬁ]‘

(A) ASTRITAL-4- PR 2 S CHITATTA (B) 2- ST -2-PIARFA—4-SCHITATHS
(C) 2,2-SIEANET-4-SHICATHINRGRST (D) 4- wm‘ -4-fir8er-2- Bt

25°(73 SIPNIAR TS MX, YA SEUF WG] 9% 3.2 x 100 &B il
AfSTETbIg ower @ s es Ever 39

(A)1.2x10°° (8)2x 107 (€)3.2x10° (D) 1.75 x 107,
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Q.13

Q.14

Q.15

. Q.16

Q.17

Q.18

Q.19

SOC, TVCSY, C1-5-C1 932 CF5-0 THAT (IO AT 82 TRy
(A)130° 990 115° . -(B) 106° 9TS 96° © {0) 107° 992 108° {D) 96° U 106°

(+)-2- 2 ReEetieT et mat wm AR sbol, @a Soififere B B
@ﬁﬂﬁ'ﬂ‘ (racemise)m ﬁﬁﬁﬁl@‘ St SRS W JIE

WIS @R g ey (o

o AR SEAUE Rke Shihl ey Rosd @oiaE Siies v (pseudo)
9w wow e @ Rignfe nafehs witer Sififste aieT b
FICATE W 3T : ) '

(A) 1.5 {8)0 ()2 (D)1

o3, o 3w wa Rionem Rifsy 78 avo

(A) 32T, =T Qe ey (8) T, wrfy wae ey
(C)=1et, BT 932 Frey (D} e, EER ezt

] feEs 1o

(A) TIT AT = (B) ST IR samss
(C) 2 +DIBE SHawstHE (D) IRRT ~Gifmm miwaE -

IET SN A ', K, CH,0007 €2 HO™ Wqﬁzaﬁwaqz@a
affafier A ufb ==

{A) HO™> H*> K*> CH,C00™ - (B)H'>HO™ K*'> CH;600
{C) H™> K'> HO™ > CH,C00™ (D} H™>K*>CH;CO0™> HO™
ST (T ARG Snifre Senm oy, mmm@%ammm@%m
(8) 9EfGe ST g9 TR Gf S G, SRS
- (B) TEGITSR v A1k st |
() T RS W3R SERTSGSH cHbwiEs
(D) MEEITT @R RGP ownG
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Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

mﬁﬂmwmﬁ@@mﬁmﬁmmmmﬂmmnm@m
i =, offb =

(A) Ph—C=8
OH

o/

() Ph—C,
CN
o,OH
() Ph—C
CN

(D) Ph—G=—0

280 OTe. SiARTATT S wdee dfeEPe come e eE-iew e NG %o
(A) p-ATRGITTET < p- FATCTPACET < p- AT ‘

(B) p- AR < p- FCACTAA < p-AL:

(C) p- AT < p- GRICATCRAT < p-AIRGICTE

(D) p- TERITTE < p-ARGITAT < p- AT

st ST SISt 4f THARET (wa A TS0 T

(A)AU=0,Q=0,w#0and AH#0 (B)AU#0,Q#0,w#0and AH=0
(C)AU=0,Q20,w=0and AH#0 (D)AU=0,Q#0,w=#0and AH=0

TRFFORT @RIAT T Sfoke ADIRRM SIRIeRS W IF FHE @ Sive
@nsifs Todt 2 ©f 24

(A) BRBTPIT K,[Hgle] (8) Far1éfl KHgla]

(C) T3 Healy (D) GBI K,[HgClylz)
faffiter T @fbe (o S B9 oIy oMy ¢t &9

{A) C;H30 (B) CgH,,0 (C} CeH1,O (D) C1oH170;

938 Shue ARQIS T @ @ 0.01 M 1:16R6e Ry A FEnefes (calibrated )
T T (SMCARES ARRREST &= 1.25 x 10° s em™), 43 TS @I T 25°C78
OMPTETT 800 ohms | (P1F &P 99 JI9 T

(A)1.02 cm? () 0.102 cm™ (€) 1.00cm™ (D) 0.5cem™

ST (S A A Bietstcatst IR st fsfe @ e  fB T Bl
stardl o T i ST el Renfie 2@ 4 s o | #wefl €3 IS
ey ofdA omiyfG 2o IAFH

‘A) (NH4)1C|’207 g3 szOg (B) Nazcrzo7 USRS Cran
(C) K;Cr,0; 92 Cr0; (D) (NH,4),CrO, 938 CrO;
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Q.27

Q.28

Q.29

Q.30

Q.31

Q.32

Q.33

Q.34

2,2-GIRAINES RSO 2@fsn Fwers o simfofi 2o

(A) Me;CBr 93¢ MeCH,Br 13 ifaar stenfls war Na/Aa@g Soifsfsre
(B) (MesC),Culi 9F AICY MeCH,Br 9T RifEa seafde war

(C) {MeCH,),CuLi 9T STITY Me,CBr 93 ffEar Jeufvs war

(D) Me;CMgI O STITY MeCH,l 9a fifear sieafss st

(P *Tfod ToSHOGIA TS e

(a) fAHE Sremia @ BTt GAGRE 3T A1y

(8) v SremrarT 8 Bt IJIER BT Teifes g i

(C) [ATE SremTarT 3 bl I GAGRIT I A

(D) e SromTam ¢ sicdt Ry Fersa Py ywifea i dife

NO,, NO,' @32 NO,” (& 0-N-O IFAT (FITd ATy SHFmy SISIceT “1eyT 1T

(A) NO," < NO, < NO; (B} NO,< NO, < NO;'
(C) NO, < NO, < NO, ~ [D) NO, < NO," < NO,
MR-Vt Fa-Tor-OrEsiba 15 sioaG za
(A) {8) {C) (D)
P9 Wi o (HSH 0 vl i b H e
Ha—C—C—R—C—C NH;—C—C—NH—CH,—C—oH . | _,_',*,_L.M_l[ —on  HN—C—C—NH-C-E—0H
: h oA : ‘5 = T B : '!’ ('l.‘HzSH

CHy

TGN -ABBRm  SIRETDHT ((CO0Na'KY) SN aTqrgd gentx  ARaifker ==
(a8, S AR TAIEAD, K €92 Na' 97 (IS RIS 267 TUesty 148.2,
50.1 93¢ 73.55 cm’mol™)

{A)271.8S cm’eq ™ (B) 67.95 S cm’ eq™
{C)543.6Scm’eq! {D) 135.9S cm’ eq*
BCl;, AICI; 432 GaCl, 99 N(¥y FNIHHIT SRINT Sltas o0 56
(A) BCl; < A|CI3 < GaCl, (B) GEC|3 < AIC|3 < BChL
(C) BCl3 < GaCly < AIC; (D) AICl; < BCl;< Gacl;

25°C18 SITTART 107 (M) KOH UF STAIT BT pH 20
(A) 6.0 (B) 7.02 (C)8.02 (D) 9.02.

ARGAARG SR @ MRS WA R 78 @B (purple) F0ER
Sefg =1

(A) 9FTC NOS IFAE SFIA() AT (GRreTTRe Sibe Ast toRa &l
(B) 9 NCS™ IFAIYE TRA() 9T SRAVARS SToeT @t ST &
() 93T NOS IFAYE SAIA(IN) 9T FRSTIARTG Sfoa @R toRw S
(D) QTG NCS™ IRAYE STIA(IN) 9F (GHETARTEE Sioa @5t (oag &
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Q.35 «3zft Scenthaey AltsT CHy STSTENER™ Rfieaa we smfntm Seom T |

EsifBa st 287
H.E oY
e
A =
( ) ITJ{‘/L \\;{-:’I
CiHs H
Hat H
N
B CH
( ) f'frc-/{ :EH‘\:,.—' 3
ciHl H
HCHAC, CH,
C
() ) /C=r"\/CH3
N\
H3C, H
Ml CH,CH;
(0) .:C:‘/ CH
Hyl \(_/ 3
7N
H H

Q36 e gt eyl saEe 1t fox sef snet fifts o

(A) IPIEE B o 1 I 1@
(B) IS QG TARRRSS e
(C) ITTIR GFGPt I I

(D) TEHHR QI i AN

Q37 coo7 fofeqere Se( ground state) SreTelive IfAIFhs za1

(A) 16% 267 1n* 307 (B} 10° 267 30% 11® 21
{C) 16% 26 11 30% 21 (D) 16” 1n*20? 36*
Q38 Rwfes sEm aEgite frcar T enififig Rifvar Sediw dvM RfFTeTs
B ==
(A) p-TI3TG eI e (B) 2,4-GIRARG M
(C) o- T3 GreTIfE (D) m-ABLGrEmfEfT

Q39 0.1m CH,COOH BT FaIes SRaLa “ARWIT 0.19 °Gig§ 9% SOTIT o RSy
&P K, 97 JqI9 (m K;, TITetTeT f3utes S/@aa &3¥F, molal cryoscopic constant =

1.86 K kg mol™?)

(A)4.76 x 10 (B)4x10 (C)8x10°° (D)2 x107°
Q.40 tFmTE Hels 3o

(A) FeCr,0, {B) CoCr,0; (C) CrFe,0, (D) FeCr,0,
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Q.41

T 56

(A) SO € H,S0; @F it
(B)100% SITG H;50,
() RowoPi @3 G M50, 9z fem

(D) 100% BRI (100% S0; 93 100% H,50, 4T fi:ﬂq)

Q.42

Q.43

Q.44

Q.45

i Smory S sy ﬁm‘ﬁrﬂ-w '(PV)m T 2o

(3 Bretuity Sitewdid =i 27 £)
(A)-AP/P (B) 5
(C)=vaP (D} -AE

[NICLY>,  [Ni(H,0)6)*, [Ni{PPhs)Cly), [NI(CO)] @J2 [NI{CN)]™ @7 WCRS ﬂﬁW’I
(paramagnetic ) 5@

(A) [NICLJ*", [Ni(H,0)c]*, [N{PPhs),Cly] (B) [Ni(CO)s), INi(PPha);CL], [NiCl)>
(C) INI{CN)J>", [Ni(H,0))>, INICI]> (D) [Ni{PPhy),Cl,), [NH{CO)q], [NI(CN)*

25°C3 —mmﬁ-ﬁma 133cm a 10 fiferea sy afsers wEreew
S AR :

(A) 6.023 fiferas (B) 60 fiferas

(c) 8.01 fiferae (D) 80.23 fifEas

TEEM €32 2SRRI & =T 41 T

(A) Tl REe wIat (B) Breter ﬁ'ﬂﬂ?ﬁ BT

() TEeT ems @ r - (D) SIS A8fey @@l
Category — Il

Q.46 TAF Q.55 ATST Avy HR W7 WAy 3% 2w SewiPr mws goftnra s | g

SUAT S 2/3 g SO I

Q46 25°C78 SIANTART N,0,(g) TITF NO,(g) 9 ﬁmmaa omrer Pig 4 Ife (a6%) 7T

(27E: AIAY &IF =0.15, R = 8.314 JK/mol ) -

(A} 11K (B)4.7 kI
(C) 81k (D) 38:2 k!
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Q.47

Q.48

Q.49

Q.50

CTET SIS THFTH PhCOMe X GIREPTCTR TeeT B9 37 #IFTS

() (8) (©) o
Mﬂ"‘-—:#’ﬂ Mz‘:\\p#n ’K:-C-/CBG t%E/,LH;Br
\ Bi
 d / F

RS @ GRET SAReR 7299 (polymerisation) #ifa FifewT (o5
sf1aar T ?

() BEfRIEAEEBT |3 G@Wﬁm
(8) BrafritEEGIaIBe W3 REEEREEET

() BrrEAfRGEBLe 9k SRAYEAGREAIRTeT
(D) BB @32 SRIARETSRGI R

g ATCY NaNHy/ =T NHy- 3 ifeain Sesm =3
{A) (B)
NH. NHa
Fe, { A l\@/»
C) (D)

Afss Seafs ffes w9
(A)WI'ZIT%W FLAT (n, ), m, s} MBS (arbltrarﬂy) AW I
(B)W@WW&@W@W@HMWWR@W
U (n, |, m, 5) TR 2O AT
(C) GG BCETRGACE T=HRCH I6TT FATS IR (B AT ALY (n, I m, s) IS
T8 3© NE

(D) 93T ERGAE Tfawes I 0o T 0 GO AW (n, [ m, 5} 97
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Q51 IRt B-O-B SISCAIST 9IS B-OH THNT LA %&T TAFCH

(A) 15 @32 BIF (B) 517 @32 15 (€) f57 «3e 17 (D) 5 932 B

Q52 TETH Alcl; w9 SAfEfere @fEET TS Mecocl va RifiFam Sesim =

(A) (B)
Me:,t".\“ #4_1 ‘Me,

© (D)
“Ma; _.-AlCh

Mt A

.'\-I:;C/L%

Q.53 p.01M SAfGE SMRTE @32 0.01M GG SN a4t €8 IR JICT 1x10°
(TS HO (15T T 360 | I T SIS pH 3T (A%S: 25°CT8 SIFNAR SHIGI0S

SfTeT pka X 4.75)
(A)4.60 (B) 4.66
(C) 4.75 (D)4.8

Q.54 Me,coN 2EfoT SIS BT A&fol @

(A) MesCOH €T TY HCN @ faferat {B) Me;CBr @17 FTTY NacN uF e
(C)-Me;CMgBr @F AT cicN v faferat (D) Me,CLi QF ATTY NH,CN T ffesar

Q55 wnvg Ao @ifas SnifNe @ ST 3T

(A) HCIO,, Cly, 0, €32 H,0 {8) HCIO,, C1,,0, 93¢ H,0
(C) HCIO, C1,0 932 H,0, {D) HCI, HElO, €1,0 Q32 H,0
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Categorv—Il|

Q.56 T Q.60 ARG T 7% 787 SR 32 27S SeR e «F I ailoe Afw | Aw
ST AT TR wigefes R IR ¥Y TER MG @AS MR | T SEI &N
@A @Ciffe 497 @3 | 8 @9 go1 Sed Biko ey 91 98 TSAl 7|

Q.56

Q.57

Q.58

Q.59

Q.60

INO,(g) + Falg) — 2NOF(g) RfFae wew Rifews a1 Rfewrsis smefg e
Bicela ARREST 2T T #FH FIE FONF @G T @i gfa s

(A) rate= — % [dp(NO,)/dt] (B) rate= % [dp(NO,)/dlt]
(C) rate= — % [dp(NO,F)/dt] (D) rate= % [dp(NO,F)/dt]
GromIfrsw 29T

(A) (Me;CCO);CH (B} f}"

o

pm—

fer o7 W (GFIRGT (L.D.) afore T=AT® d8fox A4 Sfeer(sfe) 3=

(A) *TfslD Bife @ - (B) SITIBIET W I
(C) SHSNIAT TG 13T T (D) RIT (IR STST) TR IR F41 T

mﬁammm‘*aaﬂﬁmﬁwmmmmmmlm
Rfs(afr), ot RRfear g3e Sedm A oFta Aw@Ss, =&

(A) Ni** TAE SIS T3 (bfa-eter quefa faepar(n) S3fiuEeanssiiaes
SYSTFA (7

(8) 56 CRRER=AESREEE & AE 9B N2 TTET A

() TSt it wiERfiafEeraEmiies aRgeE @i S S

(D) 2ot TEfraBmaEiEmt N SnaEa 77 fiteT Tees [FEs (chelate) 2
todl @

n-RE0AE «3e R8O X gfor owta Sbe RIfo(fer) =1

(A) STt BelIF% HITS! HHH

(B) t-F&&0IFe, n-REGIAeT Seorst Sicel Siffidwd T4y
(€) t- RGBT U AISF n-RETIFeT TPt FN

(D) n-REHTER “HU AT +-RSOHeT ST W

END OFf THE BENGALI QUESTION PAPER
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